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(BE4I : 1)
BERIE FERE HIFEFEER O 1 £
I BEFHIZOR
1 BRFHRA
(1) EARBEERIA 1,000 1,000 0
EREAEFIRIRA 1,000 1,000 0
(2) BEEEERIRA 775,000 760,000 15,000
BEEEMRIRA 775,000 760,000 15,000($ JL/S—HE S F| FULA
() REWA 3,571,000 4,088,000 A 517,000
SEIA 3,571,000 4,088,000 A 517,000\ % & %k x 100
(4) BHEIA 70,000 70,000 0
EFEILA 70,000 70,000 0| ERBRELEH. IEENEFHHE
(5) BIEIRA 15,000 15,000 0
SEEFHWSILA 15,000 15,000 0| EENRENMS
(6) HHENEFURA 4,971,000 4,955,000 16,000
EXEEEWMEUIA 3,748,000 3,748,000 0
EEHESREMBIEIRA 976,000 960,000 16,000
DETHEBRMEBHESEHBSILA 247,000 247,000 0
(7) ZEEEWA 8,916,000 8,916,000 0
IS XIEE N FERME L EEZESIRA 8,916,000 8,916,000 0
(8) HEZEEMAEINA 0 1,000,000/ A 1,000,000
HESZEESSIA 0 1,000,000/ A 1,000,000
(9) FMEUINA 1,000 1,000 0
FHtEUIRA 1,000 1,000 0
(10) #EUXA 2,000 2,000 0
SEVF 2R A 1,000 1,000 0
FEURA 1,000 1,000 0
EXEEURAGT 18,322,000 19,808,000 A 1,486,000




(B4i7 : F9)

BhERIE FERE RIFEFELR O 1 =
2 FERFEFXH
(1) BHEEXZH 16,978,000 19,457,000 A 2,479,000
SEEXH 96,000 216,000 A 120,000
WREXBEXH 1,404,000 1,954,000 A 550,000
BIEERESH 708,000 793,000 A 85,000
HEREXH 281,000 515,000 A 234,000
FImI S A& X 973,000 1,303,000 A 330,000
EfaHX 527,000 1,585,000/ A 1,058,000
E:E ko dus 948,000 943,000 5,000
BIEEXH 10,739,000 10,679,000 60,000| R iHEHKHAES
B & H 1,060,000 1,075,000 A 15,000
EBRAEXH 29,000 178,000 A 149,000
FHMHZH 19,000 19,000 0
fRERH 3L H 0 13,000 A 13,000
FAHRARIZH 10,000 10,000 0
RERHEXH 157,000 157,000 0
M H 27,000 17,000
(2) EBEXIHGEAZH) 2,366,000 2,366,000 0
REEXH 10,000 10,000 0
REXBEEH 307,000 307,000 0
BEERE X H 32,000 32,000 0
HESREXH 50,000 50,000 0
RIS AE X H 34,000 34,000 0
EfeaHX 220,000 220,000 0
fRIEH 2 H 45,000 45,000 0| EBERIR
FAMRARIZH 246,000 246,000 0
BHESTH 1,290,000 1,290,000 o|2EENIEESE
EBRAEXH 106,000 106,000 0
FHHXZH 18,000 18,000 0
M H 8,000 8,000 0
EXRFEHIHET 19,344,000 21,823,000 A 2,479,000
EXRIHINERE A 1,022,000 A 2,015,000 993,000
I REFEIRIZDE
1 FEFHRA 120,000 621,000 A 501,000 REARINE (L E)
BEFHIRAGT 120,000 621,000 A 501,000
2 ®ETETHIH 0 0 0
"EFEES T HE 0 0 0
BEEHINZEL 120,000 621,000 A 501,000
I BAFEEIIRZ DER
1 BMFEESHIRA 0 0 0
BRI AGT 0 0 0
2 BAIEEIRH 0 0 0
MR HET 0 0 0
M RSN ERE 0 0 0
IV $REXH 0 0 0
LHN E%E A 902,000 A 1,394,000 492,000
ATHAARBIN S = 58 3,465,000 4,063,000 A 598,000
REARR BRI ST = BB 2,563,000 2,669,000 A 106,000




